EARAROBEEIERT — 2 N— IBISH —F

20178128228 (&) 21E&BEE4H

| R R

(xwlw | lmEmml - |5 5) wom 8

[AE4£] 1% :220,000 ™ ~ 237%&:55,000M  3%&:22,000 M8 / 43&:

13,000 . 5 & :9,000 A

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SAEAN . 3 | KMEHEE 1:31.5 5-5-4-3 | 38.4| — 1 448 | AEED (BHE)
115/ 5| ¥FTnNyx 54.0 =) (-3) | FRBLE
R:¥a-H7F-/ B:T)E2O-7> P Tie]
= B4 | AZEIE 1:31.7 1-1-1-1 |39.2| — 3 412 | BRBX (BHE)
0 2 Ed A %53.0 (11/2) -2) TREEAS
R:YIFEYIR B:HITE2—F 1 Fht Ak
- pepeen . 9-0- _ MFBA (BHE)
3 6| 7Ny it 4 B (11312/2% 2-2-2-2 | 39.1 2 (i%) ;mu
R:T77NTI5T B:T7FvN—9q42T ke
N EEEh : 44— — HEET (5H)
al1lq | FH5E Y- it 4 Lt 1.(332).6 4-4-4-5 | 39.5 4 ::134) il A
R:iFHY<TTI1R4 BiAFIvw)-—X KEHIS
S s 4 | L3 1:33.2 6-6-4-4 | 40.1| — 5 | 438 |ROF= (BHE)
5/g|9|AP—I>TZXAA 54.0 3) @) | (B J PN
LZAN=3I2FhR—L B:TLAILTINA2 F—L—-TJvXr - T7—LERE
s - s 4 | MIEEEZ 1:33.4 8-8-7-6 |39.8| — 8 508 |$SMRBKX (BHE)
Eﬂ 4 IMFL=Z— 54.0 (11/2) -7 $RR B
RV RYZYRAIR B:IALULTY ZH &Hih
. . o6 | BRR— 1:34.0 3-3-3-7 |40.9| — 6 483 | FEBC (BHE)
71717 |V>FFr> 54.0 @) 1) | B k=257
v AT Ny h— BIET7FIENLL fzcpae]
S % 4 5 | LIE#ERE 1:34.0 7-7-8-8 | 40.3| — 9 447 | 1EMRRIE (BEHE)
g|8|8|IATLF T 54.0 (F5%) © | @) 7r-xrEva>
R:AREFY B:VRE-—ILFLY EdHTT— I
= 4 5 | BIBEE 1:34.3 9-9-9-9 |40.2| — 6 459 | ABET (BEHE)
EH 3| 171 54.0 1 1/2) © | W Tr—2bEYar
RA—I Ty B —Z T LAX EvilLy RT7—L
® I—F—@EBIERL
13—7F— 2,6,7,1,5,9,8,4,3
Ao=5"= 2,6,7,1,5,9,8,4,3
30—74— 2,6,7,(1,5,9),4,8,3
41—F— 2,6,5,9,1,4,7,8,3
[ RN
B 5 100M 794K 2-5 130 & 2-5 560/ &R 2-5-6 180M
# B 5 1004 5-6 100M B E 2-5 270M EE 5-2-6 670M
2 110 2-6 160H B H 5-2 490M
6 1009

ABTICOVTRDTEEERROODE, JHB LS,




